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Stage 5: Goft Ite Number and place value

1 a) Write these numbers using numerals:

i) Four hundred and two thousand, two hundred and sixty:

ii)  Four hundred and two thousand, two hundred and six:

iii) Four hundred and two thousand, two hundred and sixteen:

b)  Write these numbers in words:

i) R I < Iy 2 RPN

H1) 300 817: cooeoreeeeeeeeeeeeeeee e eeeeeseeseee e eee e ee s esese e see et e e et et e e ettt s e et ee et e e e sre et ettt ee e eee e ene s

Hi) 300 007: covvoreeee oo eeeeee e eeeeeseesese e see s eesessessseeseeses s eesee et see e et e s see et see e eet e eseeesre et et eeeeeesreeee e ene s

(NPV1, 6 marks)

2 Find the next two numbers:

a) 70000, 80000, 90000, ...ccoovevevervenerererns ) e ————

b) 2700, 2800, 2900, ....cooovrvverevivnnennens ) eeeeeesieeerereneeneanee,

c) 210, i, ) e , 180, 170

(NPV2, 3 marks)
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Stage 5: Goft Ite Number and place value

3 a) 5°Cwarmerthan 2°Cis e °C
b) 3°Ccolderthan4°Cis . °C
c) 4°Ccolderthan 3°Cis . °C
d) 5°Cwarmerthan -2°Cis  .oevvvevieieeeneeenn, °C
e) 4°Ccolderthan-2°Cis e, °C
f) 5°Cwarmer than -8°Cis  ..ccoveveveceeeceeeeen °C
(NPV3, 6 marks)
4 Round 567 457 to: 567 457
a) thenearest10: = s
b) thenearest 100: e,
c) thenearest 1000: .,
d) thenearest 10000: .,
e) thenearest 100000: .oveeeeereeeeeenen.
(NPV4, 5 marks)
5 Alesha thinks of a whole number.

When rounded to the nearest 10 000, the number is 990 000.

a) What is the largest possible value of Alesha’s number?

b) What is the smallest possible value of Alesha’s number?

(NPV5, 2 marks)
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Stage 5. Gof It¢ Number and place value

6 a) Convertthe Arabic numbers into Roman Numerals:

(NPV6, 8 marks)
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Stage 5: Goft Ite Addition and subftraction

7 Calculate
a) 22167 +2874 c) 32214-7148
b) 314769 + 267 267 d) 523334-367 815

(AS1, 8 marks)

8 a) Fred calculates the answer to 7000 — 1765 as shown:

5+ 30+ 200 + 5000 = 5235

Does Fred’s method give the correct answer?

Explain Fred’s method

© 2015 Page 5 ﬂ
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Stage 5: Goft Ite Addition and subftraction

b) Traceysays 41 124 — 20463 =21 341 because:

“41 000—- 20000 = 21000
400 - 100 = 300
60—-20=40
4-3=1
s041124—-20463=21341"

Do you agree with Tracey?

Explain your answer

(AS2, 4 marks)

9 Karen is given the calculation 11 879 — 3 998.
She estimates that the answer is 8000.

Do you agree with Karen? Explain your answer.

(AS3, 2 marks)

© 2015 Page 6 ﬂ

www.kangaroomaths.com




Stage 5: Goft Ite Addition and subftraction

10 a) Peteis trying to solve the problem:

24 567 people were at the match last week and there are 2487 more this week.

How many more people need to attend to bring the total to the club’s target of

30 000 people?
i) Pete draws a diagram to help.
Place a (v') by the correct diagram.
30 000
24 567 2487 Extra people

Extra people

30 000 24 567 2487
24 567
30 000 2487 Extra people

ii) Solve the problem

b) Find the missing digits in this calculation

7

o O

(AS4, 5 marks)
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Stage 5: Got Ite Multiplication and division

11 a) Bob’s ageis a multiple of 5 and a one less than a multiple of 6.

How old is Bob?

b) Find all the factors of 36

¢) Find a common factor of 36 and 12.

(MD1, 5 marks)

12 Pat thinks that 9 is a prime number
John thinks that 9 is a composite number.

Who is correct? Explain your answer.

(MD2, 2 marks)

13 Write down a prime number between 80 and 90

(MD3, 1 mark)
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Stage 5. Gof Ite Multiplication and division

14 Calculate:

a) 60 x 4 c) 102+3

b) 120 x 80 d) 1200 +40

(MD4, 8 marks)
15 Calculate

a) 67x47 ) 5476 x7

b) 476 x 67 d) 2345 x 67

(MD5, 10 marks)

© 2015 Page 9 ﬂ
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Stage 5: Got Ite

16 Find the value of A in each of these statements:

a) 23x10 =A

A= e,
b) A x10 =16

A= e,
c) A x100 =110

A= e,
d) 1.2 x1000 =A

A= e,

17 a) Jess thinks that 5% = 25
Do you agree with Jess?

Explain your answer

Multiplication and division

e) A+10=47

© 2015 Page 10

DA= e,
f) 230+100=A
D= e,
g) A+1000=2.5
A= e,
h) 1.8 xA =180
A= e,
(MD6, 8 marks)
.............. iii) 5cubed=.........

(MD7, 5 marks)

4.

www.kangaroomaths.com



Stage 5. Gof Ite Multiplication and division

18 Calculate

a) 477+9 c) 1730+8

(MD8, 4 marks)

19 Egg boxes hold 6 eggs.
Kate collects 250 eggs.

How many boxes can she fill?

(MDS, 3 marks)

20 Find the value of A:
6789 —-4321=A+4

(MD10, 3 marks)
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Stage 5. Gof Ite Multiplication and division

21 A football pitch is 60 metres wide and 100 metres long.
A scale plan of it is drawn with a width of 3 centimetres

What is the length of the scale drawing?.

(MD11, 2 marks)

© 2015 Page 12 ﬂ
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Stage 5: Got Ite Fractions (including decimals and percentages

22 Complete the statements using the symbols <, > or =

3
a) — -
4
b) = =
5
) — =
23 Which fraction is the odd one out?
Explain your answer.
5
10
24 Complete the following statements:
1 9
a) 1 - = —
8
6
b -—=1—
5
7 e
) — = L
4 4
© 2015

3 1
d — -
10 5
1 >
e) 3
3
f — —
) 9
(F1, 6 marks)
1 25 4
2 100 8
(F2, 2 marks)
3
d —= 3-
4 4
1
e) 2— - —
11
ff —= —
3 e

(F3, 10 marks)
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Stage 5: Got Ite Fractions (including decimals and percentages

25 Calculate:
1 1 6 1
— _I_ —_— B
R 97T 1a
4 3 1 1 1
by —+ — = d —+-—-=
5 10 2 4 8
(F4, 10 marks)
26 Calculate, writing the answer in its simplest form:
1 2
a) — X7 = by —X 6= 0 3-X4 =
4 3
(F5, 6 marks)
27 Write the decimal equivalent of:
9 19 91
a) T — by — = g — =
100 100 100

(F6, 3 marks)

© 2015 Page 14 ﬂ
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Stage 5: Got Ite Fractions (including decimals and percentages

28 Write the value of the symbols:

a) % = 0.009

*

100

b 0.19 = = +
10

9 0273=242 .7
10 100 [ ]

29 a) Round:

i) 1.34 to the nearest whole number:

ii) 4.77 to the nearest whole number:

iii) 0.78 to the nearest whole number:

iv) 14.55 to the nearest whole number:

b) Round:

i) 1.34to one decimal place:

ii) 4.77 to one decimal place:

iii) 0.78 to one decimal place:

iv) 14.55 to one decimal place:

© 2015 Page 15

(F7, 6 marks)

(F8, 8 marks)
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Stage 5: Got Ite Fractions (including decimals and percentages

30 Place these numbers in order, from smallest to largest:
0.321 0.32 1.231
0.3 1.321 1.23
1.32

(F9, 3 marks)

31 The world record for the men’s 100m set by Usain Bolt on 2009 was 9.58 seconds.

If this time was rounded to two decimal places, what could have been the fastest time to three
decimal places?

(F10, 1 mark)

32 a) Complete the following statements about percentages and fractions:

i) 17%= i) 80% = ....cooerrnnnee.

. 0, - 7

i) 4% = . V) —— =
100

b) Complete the following statements involving percentages and decimals:

i) 35% = e, i) 90% = oo

(F11, 8 marks)

© 2015 Page 16 ﬂ
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Stage 5. Gof It¢ Fractions (including decimals and percentages

33 Which is bigger?

Explain your answer

A B C D
50% of £60 20% of £200 25% of £140 75% of £48

(F12, 3 marks)

© 2015 Page 17 ﬂ
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Stage 5: Got Ite

34

b)

c)

35

a)

b)

36

© 2015

Measurement

Are these statements true (T) or false (F)?

25km=250m ...

25m=250cm ...

250 mm=25cm ......

Circle the correct answer

1kg is approximately the same as:

1inch is approximately the same as:

1 litre is approximately the same as:

Calculate the perimeter of this shape:

d) 2500g=25kg ...

e) 25litres=250ml ...

f) 0.8litres=800ml ...

(M1, 6 marks)

1lb 21b 51b 101b
lcm 2.5cm 5cm 10 cm
1 pint 2 pints 5 pints 10 pints

(M2, 3 marks)

15cm

12 cm
8cm

20 cm

(M3, 2 marks)
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Stage 5: Got Ite Measurement

37 Which has the greatest area?

Tick the one that does

A

Square of side 7 m

B

Rectangle
6 m x 8 m

Explain your answer.

(M4, 2 marks)

38 The cuboid is made of 1cm® cubes.

Calculate the volume of the cuboid.

3

(M5, 1 mark)
39 Jack goes on holiday on Monday 6" April at 10:15 a.m.
He returns home on Wednesday 26" April at 6:30 p.m.

Calculate the duration of his holiday.

.............. weeks .............. days .............. hours .............. minutes
(M6, 4 marks)

© 2015 Page 19 ﬂ
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Stage 5: Got It¢ Measurement

40 A can of paint holds 2.5 litres and costs £9.50.
One can of paints covers 5m?.

How much does it cost to paint a wall with dimensions 2 metres by 10 metres?

(M7, 4 marks)

© 2015 Page 20 ﬂ
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Stage 5: Goft Ite : properties of shape

41 Complete the nets of:

a) Acube b) A cuboid

(GPS1, 2 marks)

42 Look at the diagram here

a) Label an acute angle, A.
Estimate the size in degrees

b) Label an obtuse angle, O
Estimate the size in degrees

c) Label areflex angle, R
Estimate the size in degrees

(GPS2, 6 marks)
43 a) Draw, and label, an angle measuring:

i) 50° i) 140°

© 2015 Page 21 ﬂ
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Stage 5: Goft Ite : properties of shape

b) Measure the size of angles A and B, to the nearest degree:

i) ii)
B
A
(GPS3, 4 marks)
44 Find the value of the missing angle in each diagram
a) b)
126°
a b
65° 30°
------------------------ O ------------------------o
c) d)
130°
100°
¢ d
105°

(GPS4, 8 marks)

© 2015 Page 22 ﬂ
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Stage 5: Goft Ite : properties of shape

45 The perimeter of a rectangle is 50 centimetres.
The width of the rectangle is 12 centimetres.

Calculate the length of the rectangle.

(GPS5, 2 marks)

46 a) Name the type of triangle that is regular. Explain your choice.

(GPS6, 2 marks)

© 2015 Page 23 ﬂ
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Stage 5: Got Ite : position and direction

47 Look at the triangle on the grid

8TY |
i
: 71
a) Bob translates the triangle one square to the i
left and two squares up. 67 i
i
Find the new co-ordinates of the vertices of |
a+t
the triangle. '
------------------------ 7 ®essssccsssscsscsrsssce ) Sssssssssssssssssssnnnns 3--
2+
b) Sally reflects the triangle in the dotted line 4
Fa ¥ X
Find the new co-ordinates of vertex P. Y 1 2 3 4 5 6 7 8

(GPD1, 4 marks)
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Stage 5: Got Ite Stafistics

48 The line graphs show the temperature of two cities starting at midnight.
20 ytemperature 20 Ttemperature

15ll 15ll
10ll 10ll
5ll 5ll

'. i | | i time (hours) | - | i | P 1 . time (hours)

1 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 9 10

City A City B

a) What is the difference in the temperatures at midnight?
b) At what time do both cities have the same temperature?
c¢) What is the difference in the temperatures at 8 am?

d) After 6 hours, which city has the greatest change in temperature?

(S1, 5 marks)

49 Trains from Cheltenham to Malvern are shown in this timetable.
Cheltenham 11:00 11:30 13:15
Ashchurch 11:13
Twyning 11:25
Upton 11:37
Malvern 11:50

a) How many trains are there?

b) The time between stops is the same for each train. Complete the timetable.

c¢) You arein Cheltenham and you need to get to Malvern by 2pm.

i)  What is the time of the train that you need to catch at Ashchurch?

ii) How long is the journey of a train?

(S2, 7 marks)
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Stage 5. Got It¢ Dashboard
Number Fractions, . .
. Properties | Position &
and Place +and - x and + Decimals & | Measure- L. L.
of Shapes Direction Statistics
Value %S ment
NUMBER GEOMETRY

NOT GOT IT YET?
Key topics | need to work on:

C Stage 5
1ot
- Mathematics ; &
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